بسم الله الرحمن الرحيم
DEPARTMENT OF CIVIL ENGINEERING - KFUPM
Structural Analysis I

CE 305 – 07-1
Quiz -1
Saturday, 29 September, 2007

Name: -----------------------------------  



ID. No.: -------------------------------



Score:         
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Pledge: This is my own and independent work and to this I sign: .................................................
1. List two types of Dead Loads that may act on a structure.

2. Determine the load for the following block-wall per unit length on the floor assuming the weight density of a block is 110 lb/ft3.
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3. List at least three types of live loads that may act on a structure.
4. Classify the following structures (Frame; Beam; Truss) as determinate, indeterminate, stable and/or unstable. And if indeterminate specify the degree of indeterminacy (internal and external) as appropriate.

   A:  Frame (fixed at left support and pinned 
   B: Beam (with roller supports):
[image: image4.png]Figure B2./.1(a) shows a planar truss. Compute the ¢

Fig. E2.7.1(a)

ION Step 1: The truss is statically determinate (j = 5, m
structural FBD (Fig. E2.7.1(b); o = tan~1(15/20) =
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For the frame in Fig. E2.8.10(a), draw the sh
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Fig. E2.8.10(a)




         at right support:                 



   C:  Truss (assumed to be pinned at both supports at C and at E):
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5. Draw the SFD and BMD for the following plane frame if it has two pin-supports at A and D and has one frictionless joint at joint B. 
Hint: First prove this frame is statically determinate and determine that the reactions are Ax = -2.75 kips; Ay = -2.333 kips kips; Dx = -1.75; Dy = 2.333 kips.
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Instructor: Dr. Saeid A Alghamdi  -  16-150  -    03-860-2570.
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